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Math201.01, Quiz #2, Term 172
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- E=RW NS
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1. [3 points] Find an equation of the plane that contains the point
(1,0,—2)and thelinex =3t,y=1+t,z=2—t.

2. [3 points] Identify (name, vertex, axis) and sketch the surface x2 —
2x + 2y% + 8y — z = —12.

3. [2 points] Find and sketch the domain of f(x,y) = In(x":).

xy—y—Zxﬁ;x

4. [2 points] Find the limit if it exists:  lim :
; 4
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Math201.02, Quiz #2, Term 172

Name:
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1. [3 points] Find an equation of the plane that passes through the point
(1,2,—1) and is perpendicular to the planes 2x + Yo 22 =
2and x + 3z = 4.

2. [3 points] Identify (name, vertex, axis) and sketch the surface 2x2 +
4x + y* — 2y — z? = 3.

3. [2 points] Find and sketch the domain of f(x,y) = ./xy — 1.

4. [2 points] Find the limit if it exists:  lim 22,
(x,y)-(0,0) x+y

Good luck,
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Math201.04, Quiz #2, Term 172
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1. [3 points] Find an equation of the plane that contains the points
A(0,2,1) and B(—1,3,1) and perpendicular to the plane 3x — y +
2z=8.

2. [3 points] Identify (name, vertex(ces), axis) and sketch the surface
z> =19 = x% + 2y? — 12y.

3. [2 points] Find and sketch the domain of f(x,y) = ———“i’:;:l
4. [2 points] Find the limit if it exists:  lim 1_?08(3x2+3‘y2). Gt
(x,y)-(0,0) sin?(x2+y2) o
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